EX(2) [FFEM] BEICHED
EFIT—R BER(2) (FrRem) T) fﬁ;_)fﬁ e { H:*
OnE—>vO 1 AT 7 BIBRRE (B4 [H)
HERI 40~647% BERT | HER =% LE=E
AN (N BAE) 1 (D E&Es | 16,000 | 15,200 -800 95.0%
U 980,000 XEES | 4,800 5,400 600 112.5%
IR s 430,000 S | 3,900 4,000 100 102.6%
BRAE | 7 HERE FEREE | 24,700 | 24,600 -100 99.6%
O —>@ 1 Att® 5 2|&EE (Efz: M)
HER T 40~647% HER | HEHR =% tE=R
AN EAR) 1 D EgEsS | 49,900 | 48,000 | -1,900 96.2%
PN 1,270,000 ZES45 | 15,200 | 16,200 1,000 106.6%
IR S 720,000 fgg4 | 12,900 | 13,100 200 101.6%
BRAE | 5 EER =% | 78,000 | 77,300 -700 99.1%
Ona—>vQ@ 1 AHE 2 BIERE (B :[m)
HEIRI 40~647% RER | HEHR =% tb=E
AN FAE) 1 (1) g4 | 85,500 | 82,300 | -3,200 96.3%
YA 1,515,000 XiES4 | 26,100 | 27,700 1,600 106.1%
NIRRT TS 965,000 &4 | 22,200 | 22,500 300 101.4%
BRAE | 2FE&RE #Ri%E | 133,800 | 132,500 | -1,300 99.0%
Onz—>v@ 1 AHMEERLL (FTE1005M) (Bfz: M)
HEIR 40~647% RER | HER =4 ez
AE(NEAR) 1 (D Eg5 | 99,000 | 95,200 | -3,800 96.2%
I 1,550,000 FiES4H | 30,200 | 32,200 2,000 106.6%
YIRS = 1,000,000 545 | 25,600 | 26,000 400 101.6%
ERHE | ERARL Z£fi% | 154,800 | 153,400 | -1,400 99.1%
Onz—>® 1AHEERLEL (F8300AM) (BAL: [)
HERD 40~647% HER | WER =% tb=R
AN EAR) 1 () E#4 | 259,000 | 251,200 | -7,800 97.0%
PN 4,300,000 ZiE£4 | 80,200 | 82,200 2,000 102.5%
IR, = 3,000,000 M55 | 69,600 | 70,000 400 100.6%
BEE | EEAaL Ffi%E | 408,800 | 403,400 | -5,400 98.7%




EFIT—Z(EESR(2) [FEnn]

1 T)

Ong—r® 2 A& 7 S8R (Bfz: M)
HEIRI 40~647% RERT | WER =% Lt
HEAK (NFE) 2 (2) Egs | 24,000 | 22,800 | -1,200 95.0%
YRA 980,000 ZEES | 7,200 8,100 900 112.5%
USRS g 430,000 &S | 7,800 8,100 300 103.8%
BRHE | 7 28R “#R/%E | 39,000 | 39,000 0 100.0%
Qg —v@ 2 AttH 5 S8R (B : M)
IR 40~64%% HEH | HER =% L=
HEAL (rFE) 2 (2) Eg&5 | 86,400 | 83,300 | -3,100 96.4%
ULA 1,560,000 ZiE44 | 26,500 | 28,000 1,500 105.7%
N D= 1,010,000 54 | 25,800 | 26,200 400 101.6%
BRHE | 5 EE&R #£f3%8 | 138,700 | 137,500 | -1,200 99.1%
OnNE—>v® 2 At 2 S/&R (Efz: M)
HEIRT A0~647% HERT | BER =4 tEEE
HEAK (1) 2 (2) EgEs | 149,600 | 144,400 | -5,200 96.5%
UL 2,250,000 ZiE44 | 45,900 | 48,300 2,400 105.2%
YRR K= 1,500,000 55 | 44,500 | 45,100 600 101.3%
ERHE | 288 Z£Rf3%8 | 240,000 | 237,800 | -2,200 99.1%
OnRg—>©@ 2 AEE&ERLL (FT82005M) (B : M)
HER I 40~647% HERT | HER =% tEER
HEALK (NiE) 2 (2) Eg4 | 205,700 | 198,600 | -7,100 96.5%
['ON 3,000,000 *iE44 | 63,200 | 66,200 3,000 104.7%
IR K 2,000,000 M54 | 60,700 | 61,500 800 101.3%
BRHE | BRERL Zf%E | 329,600 | 326,300 | -3,300 99.0%
OnRg—>r® 2 AtHEEL L (FT83005M) (BAL: /M)
HEARI 40~6475% RER | HEHR =% tb &
HEAK (178) 2 (2) Eg4 | 285,700 | 276,600 | -9,100 96.8%
IR 4,300,000 ZiE44 | 88,200 | 91,200 3,000 103.4%
IR AR g 3,000,000 55 | 82,700 | 83,500 800 101.0%
BT | BEAL &£F%8 | 456,600 | 451,300 | -5,300 98.8%




ETIT—R(EER(2) FHREmM]

)

Ona—r@ 3 AtHH 7 2R (Bfz - M)
HEARI 40~6475%. 39mMLUT BERT | WER =% b=
HEAL (17E) 3(2) Egs | 32,000 | 30,400 | -1,600 95.0%
YA 980,000 XEE£S | 9,600 10,800 1,200 112.5%
YRR g 430,000 &S | 7,800 8,100 300 103.8%
ERYE | 7 &R %8 | 49,400 | 49,300 -100 99.8%
O/ —>@ 3 Attt 5 28E (B4 : )
R 40~645%, 39mUT RER | WER =% tEEE
HHEA (1FE) 3(2) g5 | 123,000 | 118,600 | -4,400 96.4%
UIA 1,970,000 FiES4 | 37,700 | 39,700 2,000 105.3%
IRAIRR, s 1,300,000 M55 | 32,200 | 32,600 400 101.2%
BEEE | b EHERE Zfi%E | 192,900 | 190,900 | -2,000 99.0%
Ona—>v® 3 AT 2 SIBRRE (B : M)
HER 40~6475%, 39T HER | HEH =% e
HEAK (1) 3(2) Eg&45 | 213,800 | 206,400 | -7,400 96.5%
N 3,020,000 XiEE4H | 65,700 | 68,900 3,200 104.9%
IR = 2,035,000 M54 | 56,200 | 56,900 700 101.2%
BReE | 28EE FFi%E | 335,700 | 332,200 | -3,500 99.0%
Ong—>® 3AHE&EELL (Fr83005MH) (Bfz: /M)
HEIR 40~647%. 39RLLT HERT | HEH =% Lb=&
HHEAK (1) 32 EgE4 | 312,400 | 302,000 | -10,400 | 96.7%
ULA 4,300,000 ZiEL4 | 96,200 | 100,200 | 4,000 104.2%
YNGR g 3,000,000 N5E5 | 82,700 | 83,500 800 101.0%
BRHE | BERaL FER%E | 491,300 | 485,700 | -5,600 98.9%
Ong—>® 3AtE&ERAL (FT34005M) (B : /M)
HEIR 40~647%, 39MLLT RER | WEHR =% tbER
HEAL (1) 3(2) EgE4 | 392,400 | 380,000 | -12,400 | 96.8%
I'ON 5,550,000 ZiES4 | 121,200 | 125,200 | 4,000 103.3%
BN g 4,000,000 5845 | 104,700 | 105,500 800 100.8%
BRHE | BRAaL %% | 618,300 | 610,700 | -7,600 98.8%




EFIT—R(ESR(2) FHIREN]

OnRa—>® 2 ANE&IZiHEET 7 S8R (B M)
IR 65~T4m% RERT | HER =% =
HEAK (NF#) 2 (0) Eg&5 | 36,000 | 34,500 | -1,500 95.8%
FE£UINA | 1,680,000 ZiE44 | 10,900 | 11,800 900 108.3%
IRAIRIR g 580,000 NEH 0 0 0 —
EEHE | 7 BER /%8 | 46,900 | 46,300 -600 98.7%
OnRa—v@ 2 ANE&ZiEHET 5 S8R (B4 M)
HEIRIT 65~T4m% BUE R WEE = Lt
AL (r7E) 2 (0) Eg&E4 | 98,400 | 95,000 | -3,400 96.5%
E£IVA | 2,260,000 Xi#ES4 | 30,200 | 31,700 1,500 105.0%
IRAKIR K= 1,160,000 NES 0 0 0 -
BEEE | 5 EER #Ri%E | 128,600 | 126,700 | -1,900 98.5%
OnRg—>® 2 ANEEZHEET 2 S8R (BfHz 2 M)
R 65~T41% RER | BEHR =% i3S
HEAL (158) 2 (0) E&4 | 161,600 | 156,100 | -5,500 96.6%
FELINA | 2,750,000 FiES4 | 49,700 | 52,100 | 2,400 104.8%
IRAKIR K= 1,650,000 NEH 0 0 0 —
BEHE | 2ZER /%8 | 211,300 | 208,200 | -3,100 98.5%
OnRg—>® 2 ANELZHEFTERLL (Fr82005M) (B : /M)
HFRIT 65~747% HEBI BE R =5 =R
HEAR (1FE) 2 (0) Eg&5 | 205,700 | 198,600 | -7,100 96.5%
E4£IRA | 3,100,000 ZiE44» | 63,200 | 66,200 | 3,000 104.7%
IR AR = 2,000,000 NES 0 0 0 —
BEHE | &L %8 | 268,900 | 264,800 | -4,100 98.5%
Oz —>@® 2 NELZHTFERAZL (Fr83004M) (Bhr - [)
THFIRIT 65~T4m% S B HEHR =5 tbE
HEAK (1) 2 (0) &4 | 285,700 | 276,600 | -9,100 96.8%
ELINA | 4,335,295 XiES4 | 88,200 | 91,200 3,000 103.4%
IR s 3,000,000 NEH 0 0 0 -
BEHE | SR L #F4% | 373,900 | 367,800 | -6,100 98.4%




